A = 0Ol & W 9 A

(ctel &)
&k ol JIE O &kl Hlns2 & E 2 A
36,995,909 29,477,353 7,518,556
36,995,909 29,477,353 7,518,556
2,268,038 2,182,367 85,671
2,268,038 2,182,367 85,671
2,189,438 2,114,567 74,871
8,247 8,669 N422
8,247 8,669 A422 110 JIZtHIZ22 RS2 A422
OJIZHZEXNEES(EZ)
23 8,247,000& - JIE 8,669,000& = A422
aot2d 100,210 4,777 58,433
79,620 20,880 58,740 |01 At 2teld] 58,740
O1. 2 et==H] 9,040
-2utxZHI(E2)
23 8,640,000& - J1& 9,600,000&= AN 960,
-2HREH(EE)Y 2= 10,000 x7000H= 7,000,
-2=3 MR ¥ REEAE SY¥3
3,000,000 *14]= 3,000
O5. =&l 2300
-AISIEXER FEHSA(E)
& 2,580,000& - J1& 2,880,000& = A 300
O6. 28Xz 50,000
-HEt =SSP a ARY HAl=
50,000, 000& «14l= 50,000

1/20



2 A A=
SAEHM o9 NS B2 0l st NF ol arod HIRE & &2
1,250 1,557 A307 (02 2322l A 307]
O3. A& ZHI R XY AS07
SBEIB ASIAHI(RY)
28 1,250,0008 - JI& 1,557,000&= A307]
202 G4l 6,640 7,380 AT40
6,640 7,380 AT740|01 20T ATA
SENCIIEED
Z2& 6,640,000& - J1& 7,380,000& = AT40
301 gt Az 56,762 86,762 230,000
18,212 48,212 A30,000 (09 ZBA2RRABL= 30,000
OMBIZTINE ZADL2(0/1) ()
2 & 12,000,000& - J1& 42,000,000&= 30,000
307 glztol ™ 951,979 931,979 20,000
20,000 0 20,000 (04 QIZ2tHAIE X 20,000
OAtzl= X2 & A 10,000,000 *14l= 10,000
OMBISXIAEE IS HTAIL 28
10,000,000 »14l= 10,000
401 A EHIYL S04 5,600 6,000 A 400
5,600 6,000 240004 Al&H A400
ORESZ B2TA
25 5,600,0002 - JIE 6,000,0002= A400
402 DIZHRIR0IA 58,000 30,000 28,000
58,000 30,000 28,0001 PIZX=LE 28,000
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ra

40
ra
0

JIE Ol kol

=2 A

28,000, 000& «14l=

28,000

HR3A ¥ |RFY=2H N (L

10,800

10,800

10,800

10,800

10,800

10,800

10,800, 000& «14l=

10,800
10,800
5,400]
5,400]

14,948,304

13,266,324

1,681,980

1,586,488

425,000

1,161,488

984,000

0

984,000

402 BIREX2 01T

984,000

0

984,000

984,000

984,000

(m]
v
-
rit
HT
Iy

r

-

(0)al
o
ol
Ol
[0

0t3)

984,000,000& 14]=

H

H

984,000

984,000
492,000]
246,000]
246,000]

HOI=XB S JIS2L (LX)

602,488

425,000

177,488

307 DI2+OI A

429,000

425,000

4,000

429,000

425,000

4,000

b OISHE A

4,000,0009! *14l=

4,000

4,000




2 A A=
G % Zoo=xAs swz B a )
S R -E T e = 0l &t o NF ol arod HIRE & s 2
= 1,600]
[Al 2,400]
OFMASXZ S JISBA(2MHA)(012)
H 425,000,00020%141 - J|E 425,000,0008= o
(2 2= 35,190 1% 0] [2 35,190
(Al BE 219,810 J| & 255,000] [Al A 35,190]
402 212t XtE01H 173,488 173,488
173,488 173,488 01 Q122 R E 173,488
Onr2lotel & RMERY S Js2Y
17,488,000& 14l = 17,488
[= 8,744]
(€ 4,372
[Al 4,372]
Ootciotel & =4z 2 &A1 86,000,000 x14l= 86,000
(& 43,000]
[Al 43,000]
OFMASZLYAL HHI2L(HY=XE)
30,000, 00024 *141= 30,000
(€ 15,000]
[A 15,000]
OUSS2IE E5RAY IB(SAHA) Y
40,000,000& *14l= 40,000
(€ 20,000]
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2N ABIEXD
G % Zoo=xAs swz (a2
<k I E e 04 &k o4 IE ol &y HimE==L &z 2
A 20,000]
01 = XX 4,649,283 4,130,021 519,262
O QI = X X 458,708 343,960 114,748
201 Yer2e| 43,520 35,880 7,640
43,520 35,880 7,640 (01 A= 22IH] 7,640
O1. L8| 7,940
~HOHQIRHE FXTY CHYEX B
28 2,700,002 - JI& 3,000,0008= A300
~HONIEXI B A4l
2T 80021%13,3000H - JIE 2,400,00021= 8,240
05. 22| A300
“HOIYRET OFA2RR A
248 2,560,0002 - JI& 2,880,000 A300
202 01t 4,504 5,040 A536
4,504 5,040 ~536 |01 =UH0HH] 536
OBOHQIER LRFAY|
2H 4,504,002 - I 5,040,0008= 536
301 LBt A 38,040 39,040 A1,000
26,240 27,240 A1,000 (10 SAHAHIR A3 A1,000
OAAHI B3 (RY)
AW 25,240,008 - JIF 27,240,0008= £2,000
OAZ ZZHA 25159 42 (POOL)
100,000 * 1Al 2¢+103]= 1,000
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2 A A=
S R -E T e = 0l &t o NF ol arod HIRE & s 2
307 QIztoIA 297,000 264,000 33,000
113,000 80,000 33,0005 RIZHSIELD 33,000
OFOHIIHQIMEAIE 2|
2,100,000% »1/2«58 44 A= 21,000
OZSENCHD LTS AN 22 X2
3,000,000& *43l= 12,000
401 A EHI LS04I 75,644 0 75,644
3,537 0 3,637 102 A A& AL 3,537
OXMEOHO SSA SHEITA AAILHYI
70,000,000 #8. 429%+60%= 3,537
70,000 0 70,000 (04 AI&HI 70,000
OXNMEMHE 2sa SE3A 70,000,000& *14l= 70,000
1,477 0 1,477 (05 Zeltl 1,477
OXMEOHO 2SS4 SEIA 22|
70,000,000& *2.11/100= 1,477
630 0 630 (06 Al&SCHHI 630
OXMFOH 2SS4 SEIA ALY
70,000, 000& *0.90/100= 630
ZOHISXAIE SAXN =2 (BX) 151,816 163,600 N1,784
307 QIztoIA 151,816 163,600 AN1,784
51,816 153,600 A1,784(05 RIZtRIED ~1,784
OFMASTIAILE BAK +E(B)
23 151,816,000& 14! - J|& 153,600,000& = N1,784
(€ 2= 75,908 1% 76.800] [= £892]
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2 AN AEEXD
S 5 mno=nna EIEED
2N - HM -2 MRS Ofl &+ 2K JIE O Ates Hlns2 &E2 A
(Al 23 75,908 0| & 76,8001 [Al A892]
ZOHQIMEAIE 2HHI(2X) 852,244 644,357 207,887
307 2I2t0 A 852,244 644,357 207,887
852,244 644,357 207,887 |05 QI2tREIZ 207,887}
OFOHQIMEAL 2HHI(01)
A 852,244,00094 14! - J| & 644,357,0008= 207,887
(= 23 62,637 J| & 138,294] [= AT75,657]
(2 23 533,934 J| & 312,756] [& 221,178]
(Al 23 255,673 0| 193,307] [Al 62,366]
ZOHOl EATHEAIE 2HHI(EX) 381,800 261,834 119,966
307 2I2t0 A 381,800 261,834 119,966
381,800 261,834 119,966 [05 QIZtI &2 119,966
OFHAXNATHEAIE 2HHI(4H4)(01Y)
23 381,800,0009 14! - J| & 261,834,0008= 119,966
= 28 44,696 J| & 44,695] [= 1]
(2 23 35,476 I & 11,148] [2 24,328]
(Al 23 301,628 J| & 205,991] [Al 95,6371
S+ SAMEH 2L 135,000 120,000 15,000
307 2I2t0IA 135,000 120,000 15,000
135,000 120,000 15,000 {05 QIZ2t2IErZ 15,000
O+stsYdH 294 (01218 3)(01Y)
2 135,000,0002 - J1& 120,000,000 = 15,000,
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= VN S=1 =P
S 5 mno=nna EIEED
SN H O AR D 0 &t I ol arol HDE2 & s a2
ZOHCIMEEHE 2IHI(EX) 282,000 280,000 2,000
307 gIztol A 282,000 280,000 2,000
2,000 0 2,000|02 QItANMNEX 2,000
OZMALAREHH SFU XA 1,000,000 24 A= 2,000
= 2,000]
ZofeIsE=X2 234l 810,000 780,000 30,000
307 GIztoIA 810,000 780,000 30,000
810,000 780,000 30,000 |05 CIZtRIEZ 30,000
O EZE=X2 2HHI(01)
Z & 810,000,000& - J|& 780,000,000 = 30,000
ZONQIEOAIE HMaxZ AL QIR (EX) 31,445 0 31,445
101 @124 4| 23,584 0 23,584
23,584 0 23,584110 JIZNZZ2NHSE =+ 23,584
OBOIQIBEIAL MAEZAF 012
30,000 128 60 = 21,600
(& 6,480]
[Al 15,120]
O4UEde JI22RE3 21,600,000 *9. 185%= 1,984
201 LEt2Ad| 4,621 0 4,621
4,621 0 4,621 (01 At 2t2ldl 4,621
O1.2et===4] 4,621
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02 4T

Mo ARSI =X

o AHEXEA
2 ZOIEX X

ra

£
ra
0

S ™M .9 .

JIE Ol kol

Hons2

[e=
1A

=

HOIBOIAIE HM=X AL =21

4,621,000& «14l=

™

[Al

4,621
1,982]
2,639]

3,240

3,240

3,240

3,240

,800%4*5 4 *602 *6El =

[Al

3,240

3,240
972]
2,268]

8,712,533

8,711,303

1,230

12,343

14,850

N2,507

12,343

14,850

N2,507

12,343

14,850

A2,507

]
Bl

OBMAHELEIT B
AE 12,343,008 *

S| j:x}’)

- J1& 14,850,000&=

9,875 JI& 11,876]
1,234 JIE 1,487]
1,234 JIE 1,487]

A2,507

A2,507
A2,001]
A 253]
A 253]

Xofolel 2| (B =)

188,601

184,864

3,737

301 LerE A3

188,601

184,864

3,737

188,601

184,864

3,737

ton
H
024
I
1
o

3,737




2 M AE=EXD
SA-HH O AR DS O] At oM J1E Ol AkoK Hns2 dE 2N
OXoHelol 2l X
2 188,601,000& %141 - J|& 184,864,000 = 3,737
[= &% 150,881 JI1 X 147,891] [= 2,990]
(€ 2F 18,860 J| & 18,487] [&= 373]
(A BE 18,860 J1 & 18,486] [Al 374]
Col=x =a 17,607,315 13,914,713 3,692,602
DA RIS 951,279 603,582 347,697
SINE 29 951,279 603,582 347,697
201 L2 Y| 363,466 247,690 115,776
359,491 243,715 115,776 |02 BB 24| 115,776
O2. ¢ 2 115,776
ST HEH (Y IISE)
ZX 1,8002 80 £ x2007*128 - J| & 229,824,000
= 115,776
206 M 2| 27,400 16,300 11,100
27,400 16,300 11,100|01 XH2HI 11,100
Ostzz 2UUx 2
AX 3,700,000 *7CH - JIE 14,800,000 = 11,100
401 Al HI L2 0HI 557,313 336,492 220,821
537,885 319,000 218,885|04 Al&H] 218,885
ORELSEE st BLDAHEZ)
2 100,000,0002 - J1& 150,000,000 = A50,000
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SN AE=XD
¥ o co=x =3 el Mg
o 9 BOAMAN e Ed)
S R -E T e = 0l &t o NF ol arod HIRE & s 2
OSHEIRY REUIIA 5 WS
28 210,000,008 - JI& 160,000,0002!= 50,000
OLSSIZE WD 155,760, 00024 *141= 155,760
OSBEEY TAIIA WAZA 63,125,002 %14l 63,125
4,168 2,232 1,936 (06 Al& S CH] 1,936
OSSEY HURM L SIHA HBATM AlE=
Chg| 218,885,000 %0.72/100= 1,578
OSHSBY REUIIA .45 ALLHY
A 210,000,00021%0.72/100 = JIH 1,152,0008= 360
L PIL 11,377,556 10,409,545 968,011
col=X g 1,077,737 528,563 549, 154
201 Lty 36,646 39,855 £3,209
26,181 29,090 ~2,909 |01 Are@2lY] £2,909
O1. Lut=gHI(E)
2F 24,087,0008 - JIE 26,930,0002= 72,693
Os. 22 A216
~COISTIAY AREE OIADLR ZA(BY)
2E 1,944,002 - JIE 2,160,000 A216
6,900 7,200 A300[02 BZ2ZH| A300
O1.2ZQ3UMA A300
~223AA(HES) HIIQS 2 Yot4ER
28 2,700,0002 - JIE 3,000,0008= A300
202 01t 4,050 4,500 A450
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£ M ARSEXN
g  #ooLosx &4 Q&2
i MR-t el NN (S M)
2N -3 -H2 AR A= Ofl &k 28 8 Ol &bk Hlus2 s E 2 A
4,050 4,500 A450 (01 =LHOIH N450
OLe=EX =2y =]
23 4,050,000& - JI& 4,500,0004= N 450
307 2120l A 812,991 284,678 528,313
684,694 156,381 528,313 |06 2= 528,313
OMIAIE SS2AX 23] 270,000,000 *14!= 270,000
ORIANE S28AL 29| 240,000,000 *14l= 240,000
OJlz=8i & 2ASSHA I 2|
4,563,000 x14= 4,563
OoX3(B2E) Haz2 Pl
1,000& 5505 *252== 13,750
402 QI2tXt=201d 174,500 150,000 24,500
174,500 150,000 24,500 (01 QIZtX=Ex 24,500
OZzag ST (=2 dNHESA)
12,000,000& *x141= 12,000
Oty Sd3=2¢ HES7Y 5,000,000& *14l= 5,000
Okoliys & Z2AE 7 2,500,000 »3CH= 7,500
SENLQ MBTCMITAAS(EX) 701,725 701,725 0
307 2120l A 701,725 701,725 0
701,725 701,725 0105 2UAES 0
OSHEdE TR0IAY
23 701,725,000& - J1& 701,725,000%= 0
(= 28 397,376 J1& 491,207]1 [= A93,831]
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2 M AE=EXD
S 4 comnna cisam)
Ct 2 LoI=EX X
SA-HH O AR DS O] At oM J1E Ol AkoK Hns2 dE 2N
(& 23X 85,152 J| & 105,259] [&= ~20,107]
(Al BH 219,197 JIH 105,259] [Al 113,938]
Conaey 13,500 9,000 4,500
307 2I2t0l A 13,500 9,000 4,500
13,500 9,000 4,500|05 QI2tRIES 4,500
OLona 29
23 13,500,000 - JI& 9,000,000 = 4,500
ZRAY 2R IAI(EX) 367,100 323,280 43,820
307 2I2t0l A 367,100 323,280 43,820
367,100 323,280 43,820 |05 QItES 43,820
OF2AY 2RI A(01Y)
A 367,100,000 «141 - J| & 323,280,000 = 43,820
(& 3F 23,830 JI1H 19,500] [&= 4,330]
(Al BH 217,391 JIH 177,901] [Al 39,490]
Wit =ExHH 29 999,648 899,648 100,000
307 2I2t0l A 999,648 899,648 100,000
999,648 899,648 100,000 |05 QI2tRAES 100,000,
OMIICQI=EXAIE 29 (01)
2 999,648,0002 - JI& 899,648,000 = 100,000,
COIAE 2Y(EX) 5,338,792 5,155,255 183,537
307 2I2t0IA 5,338,792 5,155,255 183,537
5,338,792 5,155,255 183,537 |05 QI2tAES 183,537
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2 M AE=EXD
H oM Lo=x s =
2 =X (&)
SV R-E = R = O] &k 04 IIE Ol ko HR=2 o E2 A
OLQSXAIS2S (HLOS2 8IA)(01L)
A 5,338,792,0002 - J|IA 5,155,255,0008= 183,537
[ 2X 456,573 JI ™ 709,818] [&  A253,245]
(2 33 1,903,213 J| & 1,466,429] [£ 436,784]
(A BE 2,279,006 J| & 2,279,008] [Al A2]
)Aluo%ag OIMIEIZ (AFZIHE XA (2 X 29 900 0 20 900
307 2I2t0l A 22,900 0 22,900
22,900 0 22,900 {05 QI2tRAES 22,900
OZSALIN2Y QAMEIS(AFLIHLH) XA
22,900,000& *14l= 22,900
(=2 11,450]
(= 5,725]
[Al 5,725]
;_El)a%ot ol Tte] AFEIHEH XIR (82 30,000 0 30,000
307 2I2tol A 30,000 0 30,000
30,000 0 30,000 (05 QI2tRIEH2 30,000
OBIZH20F ol Xt2] IHEAIHI (AILIN2Y)
30,000,000& *14l= 30,000
[= 10,000]
[Al 20,000]
Colgxiel EAI(2X) 34,100 0 34,100
307 2I2t0l A 34,100 0 34,100
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2N AEIEND
g oo s sd CHe A 2
9 LoI=X XS el dd)
SA B e = O &b o IS O bk = o E 2
34,100 0 34,100 (05 BI2t9IEZ 34,100
OSSO0l L AHMEHI AL 2
34,100, 0008 *141= 34,100
= 10,230]
[Al 23,870]
COISAIL BE 5,278,480 2,901,586 2,376,894
CO=TAIA X 125, 130 56,340 68,790
201 Lere | 5,840 6,480 640
5,840 6,480 £640|01 At 2t 640
O1. Ler+8H(2)
2% 3,240,0002 - JIF 3,600,0008= 360
O5. 2| 1280
~CONERY YRET ZA(RY)
2% 2,600,0002 - )X 2,880,0008!= 1280
202 01t 5,190 5,760 AS570
5,190 5,760 A570|01 B0 A570
OLQNE ZQALSTOIY (R2)
2 5,190,0002 - JI& 5,760,0008= A570
405 X+&HE S| 70,000 0 70,000
70,000 0 70,000 |01 XtAIRSZF S| 70,000
=TS Co=NED HERY
70,000,000 *141= 70,000
LOSTAE JSELAY(BE) 2,697,604 1,075,000 1,622,604




02 4T

(&)
O &k o IIE Ol ko HR=2 o E2 A
402 212t XH=0] 2,697,604 1,075,000 1,622,604
2,697,604 1,075,000 1,622,604 (01 QI2tXt=2E X 1,622,604
OLQEXAE JIsEBLAY 0
~THOHC QIR RMIE AS(S20IS)
2 532,500,0002 - J1& 525,000,0008= 7,500
(2 23 266,250 J| & 262,500] [=2 3,750]
(& 3 133,125 J| & 131,250] [= 1,875]
(Al B 133,125 J| & 131,250] [Al 1,875]
~SOHEMIICAERAIE BHEY
23X 42,500,0002 - J|& 50,000,000 = AT7,500
(2 2% 21,250 J| & 25,000] [= A3,750]
(&= 23X 10,625 J| & 12,500] [= A 1,875]
(Al BH 10,625 J| & 12,500]  [Al A1,875]
OLONMIEQAANE AF(ZYLUNMSQAA)

1,422,604 ,0009 *14!= 1,422,604
(=2 711,302]
(= 355,651]
[Al 355,651]

OLQNSQAAE HHEL(EYLAN2QAR)
200,000,0002! *14!= 200,000
(=2 100,000]
(= 50,000]
[Al 50,000]
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= A AE=R
5 . Lo=x =X -
o L LOI=NAL BE (&)
SN EM T NS e Ol o o N ol sk D= Y
Az Y MESEAMY 251,096 247,896 3,200
401 AEHIZ=0HY) 251,006 247,896 3,200
243,200 240,000 3,200 (04 Al&H| 3,200
OINHS Bl RHZARY WHABA(EZ)
23 17,600,000 - J1& 20,000,000 = A2,400
OUOIE EESS ETA(E)
2 & 17,600,000 - J|& 20,000,000 = N 2,400
O 2H BoAZE HAHIBA 8,000,000 x1Al= 8,000
S8 LoExa HE 28,700 0 28,700
401 ASHIZ=0HH) 28,700 0 28,700
28,700 0 28,700 |02 A AIE A 28,700
OsLI=TZ HE AALH
500,000, 000& *5.74/100= 28,700
AFEEQl X I ALY 503,600 0 503,600
401 AlEHI L 20| 503,600 0 503,600
500,000 0 500,000 103 E X0 HI 500,000
O"Atgtol &A1 £ X0 HI 500,000, 000& x1Al= 500,000
3,600 0 3,600|06 Al CHY 3,600
OALZISl AR AL
500,000,000& *0.72/100= 3,600
Colgla MEXH(EX) 100,000 0 100,000
401 Al &EHIL 20| 100,000 0 100,000
100,000 0 100,000 (04 Al&HI 100, 000
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2N AEIEND
S s eomuns as SR
& 9 Lol=NAS S
I kI T 0l & o1 oflare HRE2 oz 2
O=H A4S:o=X32 A
100,000,000 *141= 100,000
(= 100,000]
F2Y SHIMAAL(2X) 50,000 0 50,000
402 RIZXH2OI M 50,000 0 50,000
50,000 0 50,000 (01 CIZX=E = 50,000
OZE2Y SZMA Al 50,000, 0008 *141= 50,000
= 5,000]
[Al 35,000]
BHS A (AS =X D) 62,849 63,949 A 1,100
o2t 2| (A8l = X D) 19,209 19,359 A 150
RSl 19,209 19,359 A150
203 PR =L 2,850 3,000 A150
2,850 3,000 A150|04 RANSYAREXY) A 150
ORNSILR XTI (B)
2% 2,850,002 - JIH 3,000,0008!= A 150
1= (AEI =X D) 43,640 44,590 950
= N2 9,080 10,030 £950
201 Lere | 9,080 10,030 £950
8,600 9,550 ~950(01 At 2l A 950
Ol Ypr4gH (B )
2% 6,000,0008 - )X 6,650,0008!= 1650
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02 4T

i
o
o
10

aroy HRE2 a2
O5. 32| £300
-SNEY SHI(RY)

23 2,700,0002 - JIE 3,000,0008= A300
Sg 2,109,403 2,059,403
BHNE 2,059,403 2,059,403
= 2,059,403 2,059,403
02 BHEZIIE 2,059,403 2,059,403

1,366,583 1,366,583 (01 =nExIerez 1,366,583

ONESHEY SFZDMBA S 32,791,9108!= 32,792

OBOHAFIR X ME L0 631,1008!= 632

OEEX- = 17,735, 1902!= 17,738

OE=oIA LT & 1,408,0002= 1,408

OL-QS20l IR XA 72,428,31091= 72,429

O=QIAlE gA0IEE 13,241,0009= 13,241

OFMH+< 1,167,450, 7402!= 1,167,451

OFHOIE RS+ 27,433,5009!= 27,434

OZ 0§ XA 3t 1,605,280%= 1,608

OF N WEEEI|R 668,8002!= 669

OF I S= | 1,5008= 2

O O4Q! & 8 = = X AbeS 30, 184,300%= 30, 185

OJlz=Zea o A 2| 231,000%= 231

OJIE-ZYASAY 2x0l8 AldHl  766,6808= 767
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2 A AESX
= o MWRES s
o 9 BAEXE Y &)
S =< = 2 R [N 2= Ofl &k oH & Ol &k oK Hunszt & E 2 A
692,820 692,820 (02 Al - SHIEXZEHES 692,820
O 250, 168,380& = 250, 169
OZots 2L 5,878,750&= 5,879
OZ O XA Sty 200,780& = 201
OEMATHEES R 83,600&= 84
OZOH SE X | 7508 = 1
OZ UL EE X ALS 14,398, 130&= 14,399
O&OfeI=2 X ME S 20| 315,550& = 316
OZMA=KIAIE SAER=E 295,000& = 295
OMEEXANE SAHsE 6,940,000& = 6,940
OZ=2d= 2,279,470& = 2,280
ORI AAS= HHE 2,845,000&= 2,845
OLQC=20l Ht2X™ XA A 12,657,430& = 12,658
OL QA4 gda0lsz 1,702,600& = 1,703
OL=EXAE SANE 24,286,000 = 24,286
OL=XAE 23| 354,367,890&= 354,368
OAMESEE SEZ WHSA S 16,395,950& = 16,396
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